
Pos. Description Part-No. Qty.
1 shiftholder Shiho-RK-T 1
2 collar DS12-6-22-T 2
3 screw M6x65-912-VA 2

-OEM Schalthebel und Ritzelabdeckung 
demontieren(2).
-OEM Schrauben vom Lagerschild entfernen.

-Dismantle OEM gear lever and sprocket 
cover(2).
-Screw of OEM bolts from gear shaft cover.

-Shiho-RK-T mit Schrauben M6x65-912 und 
Distanz 12-6-22-T auf Lagerschild aufschrauben.
Anzugsdrehmoment:10Nm
-Bei der Montage ist darauf zu achten, daß sich 
die Schaltwelle leicht bewegen läßt(3).
-Schalthebel befestigen.

-Screw on Shiho-RK-T with bolts 
M6x65-912 and collar DS12-6-22-T onto gear 
shaft cover.
Tightening torque: 10Nm
-Please note that the gear shaft is free to move 
after mounting the shift holder(3).
-Fix gear lever.

-Ritzelabdeckung an markierter Stelle für 
Montage ausschneiden(4).
-Ritzelabdeckung montieren.

-Cut out sprocket cover onto market position for 
mounting(4).
-Fix sprocket cover.

Shiho-RK
Anbauanleitung/manual

1
2

3

3

2

1

DS12-6-22-T

M6x65-912

4


